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28.3 1)
log, 27=3 = x*=27 = x=327 = x=3

28.3 2)
log, 4=2 = x* =4 = =2

28.3 3
log, 9=2 = x*=9 = x=3

28.3 4)
4) log,16=4 = x* =16 = x=4%16 = x=2

28.3 5)
5) log,8=3 = x*=8 = x=%8 = x=2

28.3 6)
6) log,125=3 = x°=125 = x=3/8125 = x=5

283 )

1
7) IogXSZ% = Xx*=5 = x=5" = x=625

283  8)

8) Iogx4=% = x%=4 = x=4> = x=16
283 9)

9) log 4=2 = (Vx) =4 = x=4
283 10)

10) log;8=3 = (vX) =8 = VX =¥ = vx=2 = x=4
283 11)

11) log;27=3 = (\/;)3:27 = x =327 = Jx=3 = x=9
283  12)

12) log,16=4 = (¥x) =16 = ¥x =416 =

— Ix=2 = x=2® = x=8



